
四级考试词汇记忆法3 PDF转换可能丢失图片或格式，建议阅

读原文

https://www.100test.com/kao_ti2020/120/2021_2022__E5_9B_9B_

E7_BA_A7_E8_80_83_E8_c83_120951.htm （四）较全面、有针

对性地表达文章中心思想的，选项一般是答案项。 例（1

）which of the following best summarizes the main idea of the

passage? (1996年1月六级题25) A．Musical 包含uments

developed through the years will sooner or later be replaced by

computers. B. Music can’t be passed on to future generations

unless it’s recorded. C. Folk songs can’t be spread for unless they

are printed on music sheet. D. the development of music culture is

highly dependent on its material aspect. (分析：根据短文内容可

以看出，A、B、C三项的内容都只是从某一个方面阐述了一

种观点，而D项句子所表达的意思就较全面，高度囊括了全

篇短文的主旨。) 例（2）The first paragraph is mainly about .

(1991年6月六级题22) A．the teenagers’ criticism of their parents

B. misunderstandings between teenagers and their parents C. the

dominance of the parents over their children D. the teenagers’

ability to deal with crisis (分析：短文意思是讲年青人有时批评

、责备其父母，认为父母对他们间误解负大部分责任是自然

的事。而B项意思是年青人和父母间的误解；C项意思是父母

对他们孩子的统治；D项指年轻人处理危机的能力。根据短

文内容，可以明确看出，B、C、D三项内容都是从三个方面

来论述短文观点的，而A项则较全面地、有针对性地表达了

文章的中心意思，故为答案。) （五）选项中表达意义较具体

的、肤浅的（字面意思）一般不是答案项，而概括性的、抽



象的、含义深刻的是答案项。 例（1）The population in the

21st century， according to the writer . A. will be smaller than a few

years ago B. will not be as small as people expect C. will prove to be a

threat to the world D. will not constitute as serious a problem as

expected (分析：选项A、B中都有small一词，该词在文中出现

过，因而总觉肤浅，是字面之意。C项明显与文章不符，而D

项表达的意义比small要深刻得多。) 100Test 下载频道开通，
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